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TR23%F | ER224F T =0 ER235 | FER224F T =0 TR235 | ER224F KA
EEPLEE 837 876 -39 -45 424 475 -51 -10.7 50.7 54.2 -3.5
® A 35 54 -19 -35.2 28 51 -23 -45.1 80.0 944 -144
58 B 174 196 =22 -11.2 108 140 -32 -229 62.1 714 -9.3
ik P 70 72 -2 -2.8 46 36 10 27.8 65.7 50.0 15.7
58 & 65 76 -11 -14.5 50 60 -10 -16.7 76.9 78.9 -2.0
BEFERSE 8 8 0 0.0 7 7 0 0.0 87.5 87.5 0.0
DL E D 485 470 15 3.2 185 181 4 2.2 38.1 38.5 -0.4
EHEIL 8,923 10,132 -1,209 -11.9 4,492 6,259 -1,767 -28.2 50.3 61.8 -11.5
BEAE 7,454 8,109 -655 -8.1 3,521 5192 -1,671 -32.2 47.2 64.0 -16.8
EFERR 4189 4162 27 0.6 1,718 2,766 —1,048 -37.9 41.0 66.5 -25.5
z 0 fth 3,265 3,947 -682 -17.3 1,803 2,426 -623 -25.7 55.2 61.5 -6.3
B8 HE X 603 1,001 -398 -39.8 604 418 186 445 100.2 41.8 58.4
B o1<Y 716 855 -139 -16.3 282 563 -281 -499 394 65.8 -26.4
El Y 150 167 -17 -10.2 85 86 —1 -1.2 56.7 51.5 5.2
££(F0) & = A = 53 x 2 3
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Fm23%F | EH22F e =0 FR23%F | EM225F e =0 FR23%F | EM225F R =0
EELSE 318 326 -8 -2.5 249 274 -25 -9.1 69 52 17 32.7
® A 25 52 =27 -51.9 25 52 =27 -51.9 0 0 0 0.0
L " 99 120 =21 -17.5 57 102 -45 -44 1 42 18 24 133.3
)i X 31 21 10 47.6 26 16 10 62.5 5 5 0 0.0
L % 46 28 18 64.3 43 24 19 79.2 & 4 -1 -25.0
BERELSE 6 7 -1 -14.3 6 7 -1 -14.3 0 0 0 0.0
wEHLED 111 98 13 13.3 92 73 19 26.0 19 25 -6 -24.0
EGEIL 622 721 -99 -13.7 506 552 -46 -8.3 116 169 -53 -31.4
BAE 453 528 =715 -14.2 393 417 -24 -5.8 60 111 =51 -459
EFERNR 198 212 -14 —-6.6 179 186 -7 -3.8 19 26 -7 -26.9
ZDith 255 316 -61 -19.3 214 231 -17 -74 41 85 -44 -51.8
EEER 74 91 -17 -18.7 52 69 -17 -24.6 22 22 0 0.0
Vo1=<Y 66 76 -10 -13.2 33 42 -9 =214 33 34 -1 -2.9
E 29 26 3 11.5 28 24 4 16.7 1 2 -1 -50.0




